A A A A A S A A A A A A A A A A A A A S A A A A A A A A A A A A A A A A A A A A A A A A A A S A A A A A A A A A A A A A S

/

7

A NN N T N N N N N NN AN Y N e N Y N N N N N N NN A NN NN Y N N N N N N N NN

10th- (Mathematics)

LO Based NAS Questions-2021-22
WEEKLY REVISION ASSIGNMENT -7

1. 79T Sin A+Sin2A =1 37 Cos?A + Cos*A T N ot J=JI ?

If Sin A +Sin?A =1 then what is the value of the expression Cos?A + Cos*A ?

(a)o (b) 1 (c)2 (d) 9

2. Add 7Sin2A+3Cos?A=4 3 tan A =.........

If 7Sin?A+3Cos?A=4 then tan A =.......

@; (), ©5 (=

3. 7dd 2Sin0 =3 370 = ..

If 2Sind =v3 then 0 = e

a) 30° (b) 60° (c) 45° (d) 90°

THSTHI
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4, Cotd SinZ 8

Find the value of Cot’d - ——
Sin- 0

(a)o (b) -1 (c)2 (d)-8

5. Hdd x = 2Sin%0 ,y=2Cos?0 +13" x+y THS S J=dr ?
If x = 2Sin?26 ,y=2Cos?9 +1 then what is the valueof x +y ?

(a) 1 (b) 2 (c)3 (d) 12

A NN N AN U e U N NN AN Y N e N N N N N N N N N N N N N N N N N N N N Y N NN

N

Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve 7/ Ve 7/ 7/ 7/ 7/

Ve



A A A A A S A A A A A A A A A A A A A S A A A A A A A A A A A A A A A A A A A A A A A A A A S A A A A A A A A A A A A A S

/

7

6. I& Bfemit 35 forgz figy- 1@ 3 AfEz I 2
Which of the following is situated on y-axis ?

(@) (o,b)  (b) (v,2)  (c) (3,y) (d)(1,2)

7. A (12,8) 3 B (4,16) g e B T @ g T Hu g I
The mid point of the line segment joining the points A (12,8) and B (4,16) is :

(a) (8,12) (b) (16,24) (c)(88)  (d) (12,12)

8. AaI AT P (xy) T gt e A (3,6) W3 B (-3,4) 3 AHG I° 3 3x+y =.....

If the distance of P (x,y) from the point A (3,6) and B (-3,4) are equal then 3x+y =......

(a) 4 (b) 5 (c)8 (d) 12

9. ffx f3a= © fAYT (4,5), (1,3) W3 (6,7) I& 3 f3de T 839 I
The vertices of triangle are (4,5), (1,3) and (6,7) the area of triangle is :
(a) 9 =IJT feEMi™ (Square units) (b) 22341 feargft  (Square units)

(c) 1 =31 feargit  (Square units) (d) 12 =31 o€ (Square units)

10. A fEni (4,k) w3 (1,0) S fegaradl T 5 feardmit I= 3Tk T US ot J=dr ?

If the distance between the points (4,k) and (1,0) is 5 units , what is the value of k ?

(a) 4 (b) -4 (c)x4 (d)£5
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